AT SR (1R SR8 4F BE
¥ OFEARITI39% IR L TCwiz72 &, FERICARD 3,
I | @

@

©)

@ r=

@ X = ’ y =

® x =

@

n =

® a=
I a =

®
m | £x =

Ly=
IV|® FG =

®

©)
V |® cm?

&) cm
O &0 &5H%20 11004

100

A40-28-1




KA AR AE) P28

¥ OEHMITIZ0BIIR L T2 &, EYRICARD F9,

I . f1
2

3

34
5
6

7

O
5
<t
&

the ( X

in the (

) and the ( ) )

national park

was Mr.Brown.

Is France

?

What

you?

I don't know

How

before?

Our teacher

Ok = O

I f1, f2, 84, 6 |3=X7 B3, M7 V2EAX5(M78%Z)

5 H1AX3
(A) {3m X5
B3EX5(BREE)

24

(B &2mx4 m {2HX5
V &3EX6 11004

100

A40-28-2




B Q-

(==)

K

i

HAE R [EER

K OW SRV HEK LSt

xY

) QEEEE N — v

001t

....... m =
....... i B
(o) ki () :
.................... 3
........................... Wy & g1 .
s sy :
..... o I [T T
@ 0 (L1l () () m
= N L P = V. ) | =
] q m ® ] 2] ol | Il w:.. ]
...... i
(e) vi||lm|® m ® (e) I (e) ;
— — fd N 3 \f — - [d T AY4 — = [id
T o B 54 o] B o By 1 54 1 o 21 i

1

S
X
5
v
=2
v
=
. ,%_x
3 o0l
= =
9
B 6t
. X X
= v v
. =27

=1
2
2

X<
X<
XN

.
<
<

X 0

¥

¥o~—10
Dfo\EiE
Koo

G
2
e |
i |

A40-28-3



SR SRR (2]

RS2 8 4F

¥ DOBERAUIIZTBITIER L Cwz72d s, EPRICRD £,

I |©
@
®
@ a=
® x = , Y=
® x =
@
® n =
® y=
©
I |® D¢ , )
@ a=
®
M| zx=
Ly=
IV|® DH =
@ GH =
€)
Vo cm
&) cm
ORAO &55x20  5H100&

A40-28-4




T HA AR QE]) P28

¥ OMEHAMITI43B IR L T2 s, EYRICARD £9,

I . fi1
g2
fi3
Rl 4
fi] 5

6

7

1 2

II. wl:

(B)

O
5
2

€] 1

=

She

the work.

A ten-minute walk

She

in English.

Is this

O = O

I 1, M7 ®25Hx4 RI2~fI6 &35X%x8
I [(A) &3&Hx4 (B 38 (C) /2&HEX5
m {2HX5 V f3&EX5(&%ZL)

V {3EX6 1004

100

A40-28-5




1

A
N

5]
N

15
Ju

i

R

B 1]

i
s}

HERMH R HEFI (~E)

B Q-

%) QEEHIERE T — o0 n RUEK OV S 0T B

Bl = & EE

B A

G
e |

e |

erEx s I - ER OfiiEXo B iviEx o
oo —1E X < 2 fitiExo o
HaoudE X o 2 fIiEX < it O

100

A40-28-6




